Why did the Allies find it hard to agree about a Second Front in the Second World War? Churchill Archive for Schools Investigation

SOURCE 2: Telegram from President Roosevelt to Winston Churchill [extract] (CHAR 20/83/127-128)

On a scale of 1-5 how far do you
agree that this source supports this
inference?

Which extract(s) from the source support your argument?

Roosevelt is totally
committed to ‘Roundup’.

Churchill is worried
America is no longer
committed to ‘Roundup’.

Politicians on both sides
of the Atlantic are unsure
what is to be a priority in
1943.

Churchill is working hard
to make sure America
remains committed to
‘Roundup’.

Churchill is not
committed to ‘Roundup’.




